No.1

FHTEE BHESEFFEREFTREABTRER—IHBEE
L=y JI—% EIE|  T-n4h 500m LAP 1000m LAP &

BFOUTIILRAIIL] 1 | BREER < #H > 5 6:44:52 | 2:07:07 | 4i24:74
No. 2 | EAEKR < A > 2 6:03:00 | 1:56:29 | 3:57:75
1 [F:EAH 3 |HEIXER < me > 4 6i29:34| 2:04:35| 4:17:31
5825H (%) 4 | EEER < IR > 5:46:76 | 1:53:i78 | 3i50i10
8:30 5 | EAEK < K@ > 3 6:10:63 | 1:58:16 | 4:02:85

EAY 11 6

BFUTILRAIL| 1
No. 2 | HEIXSR <(WEE>| 4 6i26i42 | 2:05i14 | 4:15:99
2 | FEB# 3 | EAEK < EF D1 5i52i12 | 1i54i53 | 3i54:34
5825H (%) 4 | EAEK < BB > 2 6:13i40 | 1:59:i20 | 4:04:i42
8:38 5 | EREEEK < B > 3 6:16:i28 | 2i00i24 | 4i06:44

EAY 11 6

BFUTILARAIL| 1
No. 2 | EREEER < Hig > 3 6:36:74 | 2:06:59 | 4:19:58
3 | FECH 3 | HEIXER <WxR> 4 64511 2:10i39 | 4:28:00
5825H (%) 4 | EAEK <CR¥OD 1 6:09:50 | 1:59:40| 4:04:68
8:46 5 | BEEK < FE > 2 6:23:37 | 2:02:25| 4:12:88

EAY 11 6
BFOVTLRAL| 1 | EAEK < hFf > 4| 6i51i66 | 2:15i66 | 4:34:03
No. 2 | EREEER <& > b 6i57:82 | 2:16:07 | 4:35:i52
4 |iRRgE 1 3 | EAEK < EtE > 3| 6:49:35| 2:i09i35| 4i28:94
5825H (%) 4 | HEIEER < BF > 1 6:38:78 | 2:08:03| 4:21:26
8:54 5 | EAEK < HIE > 2 6:45:24 | 2:10:43 | 4:25:89

— 6

BFATILAAL| 1
No. 2 | BEEK 3 514911 1:148i90 | 3:48:i39
5 [FEAH 3 | EAEKB 2 | 5:29:48 | 1:46:53 | 3:36:88
5825H (%) 4 | HEIXSKB 4 5: 5851 1:56i89 | 3:55i92
9:02 5 | ERESKA 1 5:23:05 | 1:45:29 | 3:33:04

EAY 2,1 6

BFATILAAL| 1
No. 2 | HEBEIXESKA 2 5:46:53 | 1:49:22 | 3:46:48
6 | F:EBHH 3 | EASKA 1 5:36:71 1:47:79 | 3:41:53
5825H (%) 4 | BEFEEREXB 3 5i53i15 | 1i50i11 3i50:i97

9:10 5

EAY 2/na 6

TFATILRAIL | 1
No. 2 | BEEK 2 6:15:75 | 2:03:79 | 4:10:91
7 |iRRE 1 3 | EFEREREK 4 | 6i34i30| 2:i10i11 [ 4i23:50
5825H (%) 4 | EAEK 1 5:58i23 | 1i55i83 | 3i56:74
9:18 5 | AEIESKR 3 6i32:58 | 2i05i26 | 4i21:i46

— 6




No.2

FTHITEE BHESEFFREZHREABTRXER—IEERE
L=y JIL—% EIE|  T-neL 500m LAP 1000m LAP e
BREFAIAELTLl 1 | EAEHKB 3 5:26:80  1:45:97 | 3:36:03
No. 2 | BREESK 4 | 5:29i18 | 1:45:02 | 3i39:86
8 |iRRE I 3 | AEIXEK 2 5:13i73 [ 1:42:50 | 3:28:19
5A25H (1) 4 | HEFEEK 5 5:30:57 [ 1:46:93 | 3:37:09
9:26 5 | EAEKA 1 5:07:17 | 1:43i41 | 3i26:35
— 6
TFREFAIARLTIL] 1
No. 2
9 [RRE I 3 | BEEEK 2 6:04:37 | 2i02:57 | 4i04:59
5A25H (1) 4 | EAEK 1 5i39i94 [ 1i51i91 | 3i46i46
9:34 5
— 6
BFOUTILAAIL] 1
No. 2 | HEIXER <A > 3| 4i43i04| 2i17i67
10 |Bx 5D 3 | EAEK <A > 4:24:49 | 2:10:24 1000mL—3X
5A25H (1) 4 | HEIXSHK <<WxES 2 | 4i3507| 2i15i01
11:00 5
EAY 11 6
BFOUTILAAIL] 1
No. 2 | EEEEK < FEE > 3| 4:47:60| 2:20:04
11 |EXfEEHA 3 | EAEK < KR D1 4:24:02 | 2:09i42 1000mL—3X
5A25H (1) 4 | BEFEEK CFHFHE D 2| 4127112 2i12i19
11:05 5
EAY 11 6
BFOUTILAAIL] 1
No. 2 | BEEREK < 7ZH > 4 | 4i54i57 | 2:27i23
12 |BRfEF#E 3 | EAEK < MR > 4:19i34 | 2i05i13 1000mL—2
5A25H (1) 4 | EPFERER < GHEF > 2 | 4i27i70| 2i11i82
11:10 5 | HEIXESR <<WRRE> 3| 4:47i36 | 2i22i87
EAY 11 6
BFFATILRAL| 1
No. 2 | EIXEESKEB 3 3:57i42 | 1:58:13
13 |BxfECHA 3 %ZX%E 1 3:51:i13 | 1:52:52 1000mL— X
5A25H (1) 4 | EFEEREKB 2 3:54:50 | 1:54:57
11:15 5
EAY 2/na 6




No.3

SHATFEE BHAESEFEREFTHREARBTRER— I EES
L=y JIL—% EIE|  T-neL 500m LAP 1000m LAP e
BFIOUTNRAL| 1 | BEEEESRK <saE >
No. 2 | EAEK < B D
14 |iRRg O 3 | HEIXSHKR < BF >
5H26H(H) 4 | EAEK < HIE >
8:30 5 | £EAEK < Bft >
— 6
BRIUTLRAL| 1 | EAEK < K@ >
No. 2 | EAEK < KD
15 [R5 3 | BEEEK < I >
5H26H(H) 4 | EAEK < ER DS
8:38 5 | EAEK < @A >
— 6 | EAEK < e >
TFATILAAIIL| 1
No. 2 | HEIXEER
16 R O 3 | EAEK
5H26H(H) 4 | BEFREK
8:46 5 | RS
— 6
BFEITILRAIL| 1 | BEFEEK
No. 2 | EAEKRA
17 [RBs 3 | BIREEHKA
58268 (H) 4 | EAEKB
8:54 5 | HEIEERA
— 6 | ERAEKRB
TEFREFER/IFELTIL| 1
No. 2
18 [(RE I 3 | EHE
5H26H(H) 4 | BEFEEK
9:02 5
— 6
BRMFEMIFELTIL] 1 | BEEERK
No. 2 | EAEKB
19 [(REs O 3 | EAEKA
5826H(H) 4 | HEIXEK
9:10 5 | BEEERSK

6

MRBL—R T - TIZBWTIERARELLZWMES ., REBEL—RMEERT 5.

X EEFEL—RIX1000mDEHTERT %, (BF1 x-BF2x)




